



Article Symmetry of Ancient Solution for Fractional Parabolic Equation Involving Logarithmic Laplacian

Wei Zhang, Yong He * and Zerong Yang

School of Mathematics and Statistics, Hainan University, Haikou 570228, China; 21210701000017@hainanu.edu.cn (W.Z.); 22210701000017@hainanu.edu.cn (Z.Y.) * Correspondence: heyong1980@hainanu.edu.cn

Abstract: In this research, we focus on the symmetry of an ancient solution for a fractional parabolic equation involving logarithmic Laplacian in an entire space. In the process of studying the property of a fractional parabolic equation, we obtained some maximum principles, such as the maximum principle of anti-symmetric function, narrow region principle, and so on. We will demonstrate how to apply these tools to obtain radial symmetry of an ancient solution.

Keywords: ancient solution; logarithmic Laplacian; sub-solution

1. Introduction

Reaction–diffusion equations have been widely studied in a number of domains such as general shadow [1], activator–inhibitor systems [2,3], nerve propagation [4], etc. In fact, a nonlocal operator can be better used to describe some intersecting phenomena such as population ecology and diffusion. In recent years, the number of studies on the fractional parabolic equation has increased, and numerous interesting results have also been published. Wu and Yuan [5] studied the well-posedness of a solution in a semilinear fractional dissipative equation [6], such as

$$\frac{\partial u(x,t)}{\partial t} + (-\Delta)^{\alpha} u(x,t) = F(u).$$
(1)

where $0 < \alpha < 1$ and

$$(-\Delta)^{\alpha} u(x,t) = CP.V \int_{\mathbb{R}^n} \frac{u(x,t) - u(y,t)}{|x - y|^{n + 2\alpha}} dy.$$
 (2)

When $F(u) = u^p(x,t) - u(x,t)$, (1) becomes a fractional Schrödinger equation. Chen and Wu [7] proved a Liouville's type theorem of fractional equation

$$\frac{\partial u(x,t)}{\partial t} + (-\Delta)^{\alpha} u(x,t) = f(t,u), \quad (x,t) \in \mathbb{R}^n \times \mathbb{R}.$$
(3)

As we all know, Liouville's theorems play an important role in partial differential equations. The ancient solution is the one where $t \in (-\infty, T]$. It was first introduced by Richard Hamilton in [8]. It was widely studied in geometric flows [9]. What is more, the ancient solution is associated with the solution in Ricci flow; for specific details, refer to [10,11]. In 2022, Wu and Chen [12] studied the ancient solution of

$$\frac{\partial u(x,t)}{\partial t} + (-\Delta)^{\alpha} u(x,t) = f(t,u), \quad (x,t) \in \mathbb{R}^n \times (-\infty,T].$$
(4)

They proved the radial symmetry and monotonicity of a solution for (4).



Citation: Zhang, W.; He, Y.; Yang, Z. Symmetry of Ancient Solution for Fractional Parabolic Equation Involving Logarithmic Laplacian. *Fractal Fract.* **2023**, *7*, 877. https:// doi.org/10.3390/fractalfract7120877

Academic Editor: Haci Mehmet Baskonus

Received: 26 October 2023 Revised: 1 December 2023 Accepted: 3 December 2023 Published: 11 December 2023



Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). In 2019, Chen and Weth [13] gave a new concept of logarithmic Laplacian, and they proved a series of generalized functional analyses in the bounded region. Zhang and Nie proved the symmetry and monotonicity of

$$(-\Delta)^{L}u(x) + u(x) = u^{p}(x), \quad x \in \mathbb{R}^{n}$$
(5)

in [14]. The Schrödinger equation [15,16] is crucial for the knowledge of quantum mechanics. For the system of equations, Liu [17] investigated the radial symmetry of a solution for the semi-linear Logarithmic Laplacian systems in a ball.

In this paper, we consider the following nonlocal parabolic equation such that

$$\frac{\partial u(x,t)}{\partial t} + (-\Delta)^L u(x,t) = f(t,u(x,t)), \quad (x,t) \in \mathbb{R}^n \times (-\infty,T].$$
(6)

Assume u(x, t) and f(t, u) satisfy following conditions:

- (a) f(t, u) is of class C^1 in u uniformly with respect to t.
- (b) f(t, 0) = 0 and there exists a constant $\sigma > 0$ such that

$$f_u(t,0) < -\sigma, \quad \forall t \le T.$$
(7)

$$\sup_{\in (-\infty,T]} u(x,t) \to 0, \quad x \to \infty.$$
(8)

 $t \in (-\infty,T]$ The expression for logarithmic Laplacian is as follows:

Proposition 1 ([13]). *If u is Dini continuous at some point* $x \in \mathbb{R}^n$ *,* $\Omega \in \mathbb{R}^n$ *is an open subset and* $x \in \Omega$ *, then we have the following integral representation*

$$(-\Delta)^{L}u(x) = C_{n} \int_{\Omega} \frac{u(x) - u(y)}{|x - y|^{n}} dy + C_{n} \int_{\mathbb{R}^{n} \setminus \Omega} \frac{-u(y)}{|x - y|^{n}} dy + [h(x) + \mu]u(x)$$
(9)

where

$$h(x) = C_n \int_{B_1(x) \setminus \Omega} \frac{1}{|x - y|^n} dy - C_n \int_{\Omega \setminus B_1(x)} \frac{1}{|x - y|^n} dy,$$
(10)

 $C_n = \pi^{-\frac{-\pi}{2}}\Gamma(\frac{n}{2})$ and $\mu = 2\log 2 + k(\frac{n}{2}) - \beta$, where Γ is the Gamma function, $k = \frac{\Gamma'}{\Gamma}$ is Digamma function, $\beta = -\Gamma'(1)$ is the Euler–Mascheroni constant, and $B_1(x)$ is a sphere with x as its center and 1 as its radius.

We say u(x, t) is a classical ancient solution of (6) if

$$u(x,t) \in L_0^1(\mathbb{R}^n) \times C^1(-\infty,T].$$
(11)

It is easy to check that $(-\Delta)^L u(x,t)$ is well defined. Before the proof, we give some basic notations.

If we select an arbitrary direction in \mathbb{R}^n as x_1 , we have $x = (x_1, x') \in \mathbb{R}^n$. This is denote as

$$T_{\lambda} = \{ x \in \mathbb{R}^n | x_1 = \lambda, \lambda \in \mathbb{R} \}.$$
(12)

Let $x^{\lambda} = (2\lambda - x_1, x')$ be the reflection point of x with respect to T_{λ} . Set

$$\Sigma_{\lambda} = \{ x \in \mathbb{R}^n | x_1 < \lambda \}$$
(13)

and

$$\Sigma_{\lambda}^{c} = \{ x \in \mathbb{R}^{n} | x_{1} > \lambda \}.$$
(14)

Suppose that u(x, t) is a solution of (6), we denote

$$u_{\lambda}(x,t) = u(x^{\lambda},t) \tag{15}$$

and

$$w_{\lambda}(x,t) = u_{\lambda}(x,t) - u(x,t).$$
(16)

Next, we show our main conclusions and necessary maximum principles.

2. Basic Theorem

Theorem 1. Assume f(x,t) satisfies conditions (a) and (b). Suppose $u(x,t) \in L_0^1(\mathbb{R}^n) \times C^1(-\infty,T]$ is a positive bounded solution and a Dini continuous function of (6) satisfies (c). Then, u(x,t) is radial symmetry and decreases in some points in \mathbb{R}^n .

It is well known that the study of the symmetry and monotonicity of a solution is of great importance in partial differential equations. Many methods have been produced, such as the direct method of moving plane [18], the extension method [19], the sliding method [20,21], and so on. For a fractional elliptic equation, there are many results [22–25]. However, results in fractional parabolic equations are relatively scarce. Chen-Wang-Niu-Hu [26] proved the asymptotic symmetric of a solution for the parabolic Equation (4).

In 2023, Luo and Zhang [27] proved the asymptotic symmetry of solution of a nonlocal weighted fractional parobolic equation:

$$\frac{\partial u(x,t)}{\partial t} + A_{2s}u(x,t) = f(t,u(x,t), \nabla u(x,t)) + g(x,t), \quad (x,t) \in \mathbb{R}^n \times \mathbb{R}.$$
 (17)

However, for a fractional parabolic equation involving logarithmic Laplacian, there are few articles. Therefore, it is important to study the properties of the solution of (6). In this paper, we study the radial symmetry of the bounded solution of a fractional parabolic equation involving logarithmic Laplacian.

Theorem 2. We consider equation

$$\frac{\partial u(x,t)}{\partial t} + (-\Delta)^L u(x,t) + \omega u(x,t) = u^p(x,t), \quad (x,t) \in \mathbb{R}^n \times (-\infty,T].$$
(18)

where $1 and <math>\omega > \sigma$ is a constant. Suppose $u(x,t) \in L_0^1(\mathbb{R}^n) \times C^1(-\infty,T]$ is a positive Dini continuous solution of (18), which satisfies (c). Then, u(x,t) is the radial symmetry of some point in \mathbb{R}^n .

In order to complete the proof of Theorem 1, we need the following maximum principles.

Theorem 3. This is the maximum principle for the anti-symmetric function. Let Ω be a bounded Lipschitz region in Σ_{λ} . Assume that $w_{\lambda}(x, t) \in L_0^1(\mathbb{R}^n) \times C^1((-\infty, T])$ is a uniformly bounded continuous function on $\overline{\Omega}$, a Dini continuous function in Ω , and it satisfies

$$\begin{cases} \frac{\partial w_{\lambda}}{\partial t} + (-\Delta)^{L} w_{\lambda}(x,t) = c(x,t) w_{\lambda}(x,t), \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T].\\ w_{\lambda}(x^{\lambda},t) = -w_{\lambda}(x,t), \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T] \end{cases}$$
(19)

where c(x, t) is bounded from above, there exists $t_1 < T$ such that

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in \Sigma_{\lambda} \times (t_1,T]$$
 (20)

and $h(x) + \mu \ge 0$.

Then, there exists a constant m such that

$$w_{\lambda}(x,t) \ge e^{-m(t-t_{1})} \min\{0, \inf_{x \in \Omega} w_{\lambda}(x,t_{1})\}, \quad (x,t) \in \Sigma_{\lambda} \times [t_{1},T].$$
(21)

4 of 18

Furthermore, if

$$w_{\lambda}(x,t_1) \ge 0, \quad x \in \Omega.$$
 (22)

we have

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in \Sigma_{\lambda} \times [t_1,T].$$
 (23)

Proof. Set

$$v(x,t) = e^{mt} w_{\lambda}(x,t).$$
(24)

Placing it into (19), we have

$$\frac{\partial v(x,t)}{\partial t} + (-\Delta)^L v(x,t) = (c(x,t)+m)v(x,t), \quad (x,t) \in \Omega \times (-\infty,T].$$
(25)

We want to prove

$$v(x,t) \ge \min\{0, \inf_{x \in \Omega} v(x,t_1)\}, \quad (x,t) \in \Omega \times [t_1,T].$$
(26)

If (26) is invalid, there exists a point $(x^0, t_0) \in \Omega \times (t_1, T]$ such that

$$v(x^{0}, t_{0}) = \min_{(x,t)\in\Omega\times[t_{1},T]} v(x,t) < \min\{0, \inf_{x\in\Omega} v(x,t_{1})\} \le 0,$$
(27)

Using a simple deduction, we have

$$\frac{\partial v(x^0, t_0)}{\partial t} \le 0 \tag{28}$$

and

$$(-\Delta)^{L}v(x^{0},t_{0}) = C_{n} \int_{\Sigma_{\lambda}} \frac{v(x^{0},t_{0}) - v(y,t_{0})}{|x^{0} - y|^{n}} dy + \int_{\Sigma_{\lambda}^{c}} \frac{-v(y,t_{0})}{|x^{0} - y|^{n}} dy + [h(x) + \mu]v(x^{0},t_{0})$$

$$\leq C_{n} \int_{\Sigma_{\lambda}} \frac{v(x^{0},t_{0}) - v(y,t_{0})}{|x^{0} - y^{\lambda}|^{n}} dy + \int_{\Sigma_{\lambda}} \frac{v(y,t_{0})}{|x^{0} - y^{\lambda}|^{n}} dy + [h(x) + \mu]v(x^{0},t_{0}) < 0.$$
(29)

We choose proper m such that

$$m + c(x, t) < 0.$$
 (30)

Combining (28) and (29), we obtain a contradiction in (25). So, (26) is valid. Thus,

$$w_{\lambda}(x,t) \ge e^{-m(t-t_1)} \min\{0, \inf_{x \in \Omega} w_{\lambda}(x,t_1)\}.$$
(31)

With this, we have finished the proof of Theorem 3. \Box

Remark 1. *The maximum principle for an anti-symmetric function is an important tool in the process of constructing a sub-solution.*

Theorem 4. This is the narrow region principle. Let Ω be a Lipschitz region in Σ_{λ} contained in $\{x|\lambda - l < x_1 < \lambda\}$ with small l and $h(x) + \mu \ge 0$. Suppose $w_{\lambda}(x, t) \in L_0^1(\mathbb{R}^n) \times C^1(-\infty, T]$ is uniformly bounded continuous function on $\overline{\Omega}$, a Dini continuous function in Ω and satisfies

$$\begin{cases} \frac{\partial w_{\lambda}(x,t)}{\partial t} + (-\Delta)^{L} w_{\lambda}(x,t) = c(x,t) w_{\lambda}(x,t), \quad (x,t) \in \Omega \times (-\infty,T], \\ w_{\lambda}(x^{\lambda},t) = -w_{\lambda}(x,t), \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T]. \end{cases}$$
(32)

where c(x, t) is bounded from above, and there exists $t_1 < T$ such that

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in (\Sigma_{\lambda} \setminus \Omega) \times (t_1,T].$$
 (33)

Then, for sufficiently small l, there exists a constant m > 0 such that

$$w_{\lambda}(x,t) \ge e^{-m(t-t_1)} \min\{0, \inf w_{\lambda}(x,t_1)\}.$$
(34)

Furthermore, if

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in (\Sigma_{\lambda} \setminus \Omega) \times (-\infty,T].$$
 (35)

Then, we have

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T].$$
 (36)

Proof. Set

$$v(x,t) = e^{mt} w_{\lambda}(x,t) \tag{37}$$

Take it into (32), we have

$$\frac{\partial v(x,t)}{\partial t} + (-\Delta)^L v(x,t) = (m + c(x,t))v(x,t), \quad (x,t) \in \Omega \times (-\infty,T].$$
(38)

We want to show

$$v(x,t) \ge \min\{0, \inf_{x \in \Omega} v(x,t_1)\}, \quad (x,t) \in \Omega \times [t_1,T].$$
(39)

If (39) is invalid, there exists a point $(x^0, t_0) \in \Omega \times (t_1, T]$ such that

$$v(x^{0}, t_{0}) = \min_{(x,t)\in\Sigma_{\lambda}\times(t_{1},T]} v(x,t) < \min\{0, \inf_{x\in\Omega} v(x,t_{1})\}.$$
(40)

We can quickly obtain

$$\frac{\partial v(x^0, t_0)}{\partial t_0} \le 0 \tag{41}$$

and

$$(-\Delta)^{L}v(x^{0},t_{0}) = C_{n} \int_{\Sigma_{\lambda}} \frac{v(x^{0},t_{0}) - v(y,t_{0})}{|x^{0} - y|^{n}} dy + C_{n} \int_{\Sigma_{\lambda}^{c}} \frac{-v(y,t_{0})}{|x^{0} - y|^{n}} dy + [h(x^{0}) + \mu]v(x^{0},t_{0})$$

$$\leq C_{n} \int_{H} \frac{v(x^{0},t_{0})}{|x^{0} - y^{\lambda}|^{n}} dy$$
(42)

where $H \subset \Sigma_{\lambda}$ is the region

$$H = \{ y \in \Sigma_{\lambda}, l < |y_1 - x_1^0| < 1, |y' - x'| < 1 \}$$
(43)

and

$$\int_{\Sigma_{\lambda}} \frac{1}{|x^0 - y|^n} dy \ge \int_H \frac{1}{|x^0 - y|^n} dy \to \infty, \quad as \quad l \to 0.$$

$$\tag{44}$$

If we take (42) into the first equality in (32), we have

$$\frac{\partial v(x^0, t_0)}{\partial t} \ge \left(-\int_H \frac{1}{|x^0 - y|^n} + c(x^0, t_0) + m\right) v(x^0, t_0).$$
(45)

Combining (44) and (45), we obtain a contradiction in (38). So, (34) is valid. Because $w_{\lambda}(x, t)$ is uniformly bounded, we have

$$w_{\lambda}(x,t) \ge Ce^{-m(t-t_1)}, \quad (x,t) \in \Omega \times (t_1,T].$$
(46)

We verified (36) by setting $t_1 \rightarrow -\infty$. \Box

Theorem 5. This is the maximum principle at infinity. Let Ω be an unbounded Lipschitz region in Σ_{λ} . Suppose that $w_{\lambda}(x, t) \in L_0^1(\mathbb{R}^n) \times C^1(-\infty, T]$ is a uniformly bounded continuous function on $\overline{\Omega}$, a Dini continuous function in Σ_{λ} , and it satisfies

$$\begin{cases} \frac{\partial w_{\lambda}(x,t)}{\partial t} + (-\Delta)^{L} w_{\lambda}(x,t) = c(x,t) w_{\lambda}(x,t), \quad (x,t) \in \Omega \times (-\infty,T].\\ w_{\lambda}(x^{\lambda},t) = -w_{\lambda}(x,t), \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T].\\ \lim_{|x| \to \infty} w_{\lambda}(x,t) = 0, \quad uniformly \quad t \in (-\infty,T]. \end{cases}$$
(47)

Assume that there exists a constant $\sigma > 0$ such that

$$c(x,t) \le -\sigma \tag{48}$$

at points where $w_{\lambda}(x,t) < 0$ *in* $\Omega \times (-\infty,T]$ *, for some* $t_1 < T$ *,*

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in (\Sigma_{\lambda} \setminus \Omega) \times (t_1,T]$$
 (49)

and $h(x) + \mu \ge 0$ on Ω . Then, there exists a constant m > 0 such that

$$w_{\lambda}(x,t) \ge e^{-m(t-t_1)} \min\{0, \inf w_{\lambda}(x,t_1)\}, \quad (x,t) \in \Omega \times [t_1,T].$$
(50)

Furthermore, if

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in (\Sigma_{\lambda} \setminus \Omega) \times (-\infty,T].$$
 (51)

We have

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T].$$
 (52)

Proof. We need an auxiliary function

$$v(x,t) = e^{mt} w_{\lambda}(x,t) \tag{53}$$

where m > 0 is a fixed constant that will be chosen later. If we take it into the first equality of (47), we have

$$\frac{\partial v(x,t)}{\partial t} + (-\Delta)^L v(x,t) = (c(x,t)+m)v(x,t), \quad (x,t) \in \Omega \times (-\infty,T].$$
(54)

Next, we will show

$$v(x,t) \ge \min\{0, \inf_{x \in \Omega} v(x,t_1)\}, \quad (x,t) \in \Omega \times [t_1,T].$$
(55)

If (55) is invalid, there exists a point $(x^0, t_0) \in \Omega \times (t_1, T]$ such that

$$v(x^{0}, t_{0}) = \min_{(x,t) \in \Sigma_{\lambda} \times (t_{1},T]} v(x,t) < \min\{0, \inf_{\Omega} v(x,t_{1})\}.$$
(56)

We can quickly obtain

$$\frac{\partial v(x^0, t_0)}{\partial t} \le 0 \tag{57}$$

and

$$(-\Delta)^{L}v(x^{0},t_{0}) = C_{n} \int_{\Sigma_{\lambda}} \frac{v(x^{0},t_{0}) - v(y,t_{0})}{|x^{0} - y|^{n}} dy + C_{n} \int_{\Sigma_{\lambda}^{c}} \frac{-v(y,t_{0})}{|x^{0} - y|^{n}} dy + (h(x) + \mu)v(x^{0},t_{0})$$

$$\leq C_{n} \int_{\Sigma_{\lambda}} \frac{v(x^{0},t_{0})}{|x^{0} - y^{\lambda}|^{n}} dy + (h(x) + \mu)v(x^{0},t_{0}) < 0.$$
(58)

We choose a proper m such that

$$m < \sigma.$$
 (59)

Combining (58) and (59), we obtain a contradiction in (54). It has been verified in (55). So,

$$w_{\lambda}(x,t) \ge e^{-m(t-t_1)} \min\{0, \inf w_{\lambda}(x,t_1)\}.$$
(60)

Furthermore, by the uniform boundness of $w_{\lambda}(x, t)$ and setting $t_1 \rightarrow -\infty$, we have

$$w_{\lambda}(x,t) \ge Ce^{-m(t-t_1)} \ge 0, \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T].$$
(61)

Theorem 6. This is the maximum principle in a narrow region and the neighborhood of infinity. Let

$$\Omega = \{ x \in \Sigma_{\lambda}, d(x, T_{\lambda}) < l \quad or \quad |x| > R \}.$$
(62)

Here, l > 0 *is small and* R > 0 *is sufficiently large. Assume that* $w_{\lambda}(x,t) \in L_0^1(\mathbb{R}^n) \times C^1((-\infty,T])$ *is a uniformly bounded continuous function on* $\overline{\Omega}$ *, a Dini continuous function in* Ω *and satisfies (8). Suppose* c(x,t) *is bounded from above in* $\{x \in \Sigma_{\lambda} | d(x,T_{\lambda}) < l\}$ *, and*

$$c(x,t) < -\sigma, \quad x \in \Sigma_{\lambda}, |x| > R.$$
 (63)

There exists $t_1 < T$ *such that*

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in (\Sigma_{\lambda} \setminus \Omega) \times (t_1,T]$$
(64)

and $h(x) + \mu \ge 0$ on Ω .

Then, there exists m > 0 *such that*

$$w_{\lambda}(x,t) \ge e^{-m(t-t_1)} \min\{0, \inf w_{\lambda}(x,t_1)\}, (x,t) \in \Sigma_{\lambda} \times [t_1,T]$$
(65)

Furthermore, if

$$w_{\lambda}(x,t) \ge 0, (x,t) \in (\Sigma_{\lambda} \setminus \Omega) \times (-\infty,T],$$
(66)

we have

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T].$$
 (67)

Proof. The specific proof is omitted, and it is similar to Theorems 4 and 5.

If the minimum arrives at infinity, we obtain a contradiction using an example similar to Theorem 5. Similarly, if the minimum arrives in a narrow area, we are able to obtain a contradiction using a similar step as in Theorem 4. \Box

3. Symmetry of Solution in $\mathbb{R}^n \times (-\infty, T]$

Using a simple derivation, we know that $w_{\lambda}(x, t)$ satisfies the following equation

$$\frac{\partial w_{\lambda}(x,t)}{\partial t} + (-\Delta)^{L} w_{\lambda}(x,t) = c_{\lambda}(x,t) w_{\lambda}(x,t)$$
(68)

where $c_{\lambda}(x,t) = f_u(\xi,t)$ and $\xi(x,t)$ between u(x,t) and $u_{\lambda}(x,t)$. We first give a brief framework for the proof of Theorem 1.

1. We prove $\inf_{t \in (-\infty,T]} w_{\lambda}(x,t) > 0, x \in \Sigma_{\lambda}$ when λ is sufficiently negative.

2. Holding $\inf_{t \in (-\infty,T]} w_{\lambda}(x,t) > 0, x \in \Sigma_{\lambda}$, move the plane T_{λ} to the limiting position.

We denote

$$\lambda_0^- = \sup\{\lambda | \inf_{t \in (-\infty,T]} w_\mu(x,t) > 0, \forall x \in \Sigma_\lambda, \mu \le \lambda\}.$$
(69)

Similarly, we have

$$\lambda_0^+ = \inf\{\lambda | \inf_{t \in (-\infty,T]} w_\mu(x,t) > 0, \forall x \in \Sigma_\mu^c, \mu \ge \lambda\}.$$
(70)

3. Finally, we will show that $\lambda_0^- = \lambda_0^+$. Next, we begin the proof of Theorem 1.

Proof of Theorem 1. First, when λ sufficiently negative, we will show that

$$\inf_{t \in (-\infty,T]} w_{\lambda}(x,t) > 0, \quad x \in \Sigma_{\lambda}$$
(71)

using three steps.

In Step 1, we need to prove

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T].$$
 (72)

Combining $f_u(t, 0) < -\sigma$ and the continuity of f(t, u), there exists $\epsilon > 0$ such that

$$f_u(t,u) \le -\sigma, \quad (t,u) \in (-\infty,T) \times (0,\epsilon].$$
 (73)

Since $\lim_{|x|\to\infty} u(x,t) = 0$, there exists a sufficiently large *R* such that

$$c_{\lambda}(x,t) = f_u(t,\xi) < -\sigma, \quad (x,t) \in B_R^c \times (-\infty,T].$$
(74)

Using Theorem 5, we obtain

$$w_{\lambda}(x,t) \ge 0, \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T], \lambda < -R.$$
 (75)

In Step 2, we will show that

$$w_{\lambda}(x,t) > 0, \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T], \lambda < -R.$$
 (76)

If (76) is not valid, there exists point $(x^0, t_0) \in \Sigma_{\lambda} \times (-\infty, T]$ such that

$$w_{\lambda}(x^0, t_0) = 0. (77)$$

On the one hand, we obtain

$$(-\Delta)^{L} w_{\lambda}(x^{0}, t_{0}) = -\frac{\partial w_{\lambda}}{\partial t}(x^{0}, t_{0}) + f(t_{0}, u_{\lambda}(x^{0}, t_{0})) - f(t_{0}, u(x^{0}, t_{0}))$$

$$= -\frac{\partial w_{\lambda}}{\partial t}(x^{0}, t_{0}) \ge 0.$$
(78)

On the other hand, we have

$$(-\Delta)^{L}w_{\lambda}(x^{0},t_{0}) = C_{n}\int_{\Sigma_{\lambda}}\frac{w_{\lambda}(x^{0},t_{0}) - w_{\lambda}(y,t_{0})}{|x^{0} - y|^{n}}dy - C_{n}\int_{\Sigma_{\lambda}^{c}}\frac{w_{\lambda}(y,t_{0})}{|x - y|^{n}}dy + (h(x) + \mu)w(x^{0},t_{0})$$

$$= C_{n}\int_{\Sigma_{\lambda}}w_{\lambda}(y,t_{0})(\frac{1}{|x^{0} - y^{\lambda}|^{n}} - \frac{1}{|x^{0} - y|^{n}})dy < 0.$$
(79)

Combining (78) and (79), we have

 $w_{\lambda}(x,t_0) \equiv 0, \quad x \in \Sigma_{\lambda}$ (80)

However, when $x = 0^{\lambda}$, we have

$$w_{\lambda}(0^{\lambda}, t_0) = u(0, t_0) - u(0^{\lambda}, t_0) > 0,$$
(81)

where λ is sufficiently negative. It contradicts (80).

Thus, we have verified that

$$w_{\lambda}(x,t) > 0. \tag{82}$$

In Step 3, we will show that

$$\inf_{t \in (-\infty,T]} w_{\lambda}(x,t) > 0, \quad x \in \Sigma_{\lambda}, \lambda \le -R.$$
(83)

If (83) is invalid, there exists x^0 such that

$$\inf_{t\in(-\infty,T]} w_{\lambda}(x^0,t) = 0.$$
(84)

Due to the infinity of interval of t, the minimum of $w_{\lambda}(x, t)$ may not be attained. There exists sequence $\{t_k\}$ and $\{\epsilon_k\}$ such that

$$w_{\lambda}(x^0, t_k) = \epsilon_k \to 0, \quad as \quad k \to \infty.$$
 (85)

We need to use the perturbation technique. Consider an auxiliary function

$$v_{\lambda}^{k}(x,t) = w_{\lambda}(x,t) - \epsilon_{k}\psi_{\delta}(x)\eta_{k}(t), \quad (x,t) \in \Sigma_{\lambda} \times (-\infty,T]$$
(86)

where

$$\eta_k(t) = \begin{cases} 1, & |t - t_k| < \frac{1}{2}. \\ 0, & |t - t_k| \ge 1. \end{cases}$$
(87)

and

$$\psi_{\delta}(x) = \begin{cases} 1, & |x - x^{0}| < \frac{\delta}{2}, \\ 0, & |x - x^{0}| \ge \delta. \end{cases}$$
(88)

Therefore, we can obtain

$$v_{\lambda}^{k}(x,t) = w_{\lambda}(x,t) > 0, \quad (x,t) \in (\Sigma_{\lambda} \times (-\infty,T]) \setminus (B_{\delta}(x^{0}) \times [t_{k}-1,\min\{t_{k}+1,T\}])$$
(89)

and

$$v_{\lambda}^{k}(x^{0}, t_{k}) = 0. (90)$$

From (89) and (90), the minimum point can be obtained in $B_{\delta}(x^0) \times [t_k - 1, \min\{t_1 + 1, T\}]$. (denote it by (x_m, t_m)).

Then

$$v_{\lambda}^{k}(x_{m},t_{m}) = \inf_{(x,t)\in\Sigma_{\lambda}\times(-\infty,T]} v_{\lambda}^{k}(x,t) \le 0$$
(91)

and

$$0 < w_{\lambda}(x_m, t_m) \le \epsilon_k \psi_{\delta}(x_m) \eta_k(t_m) \le \epsilon_k.$$
(92)

Furthermore, we have

$$\frac{w_{\lambda}(x_{m},t_{m})}{\partial t} = \frac{\partial v_{\lambda}^{k}}{\partial t}(x_{m},t_{m}) + \epsilon_{k}\psi_{\delta}(x_{m})\frac{\partial\eta_{k}}{\partial t}(t_{m})$$

$$\leq \epsilon_{k}\psi_{\delta}(x_{m})\frac{\partial\eta_{k}}{\partial t}(t_{m})$$

$$\leq C\epsilon_{k}$$
(93)

and

$$(-\Delta)^{L} v_{\lambda}^{k}(x_{m},t_{m}) = (-\Delta)^{L} w_{\lambda}(x_{m},t_{m}) - \epsilon_{k} \eta_{k}(t_{m})(-\Delta)^{L} \psi_{\delta}(x_{m})$$

$$= -\frac{\partial w_{\lambda}(x_{m},t_{m})}{\partial t} + c_{\lambda}(x_{m},t_{m})w_{\lambda}(x_{m},t_{m}) - \epsilon_{k} \eta_{k}(t_{m})(-\Delta)^{L} \psi_{\delta}(x_{m})$$

$$\geq -C\epsilon_{k} + c_{\lambda}(x_{m},t_{m})w_{\lambda}(x_{m},t_{m}) - \epsilon_{k} \eta_{k}(t_{m})(-\Delta)^{L} \psi_{\delta}(x_{m})$$

$$\geq -C\epsilon_{k} - \epsilon_{k} \eta_{k}(t_{m})(-\Delta)^{L} \psi_{\delta}(x_{m}) \rightarrow 0, k \rightarrow \infty.$$
(94)

What is more,

$$(-\Delta)^{L} v_{\lambda}^{k}(x_{m},t_{m}) = C_{n} \int_{\Sigma_{\lambda}} \frac{v_{\lambda}^{k}(x_{m},t_{m}) - v_{\lambda}^{k}(y,t_{m})}{|x_{m}-y|^{n}} dy + C_{n} \int_{\Sigma_{\lambda}^{c}} \frac{-v_{\lambda}^{k}(y,t_{m})}{|x_{m}-y|^{n}} dy + [\mu+h(x)] v_{\lambda}^{k}(x_{m},t_{m}) = C_{n} \int_{\Sigma_{\lambda}} \frac{v_{\lambda}^{k}(x_{m},t_{m})}{|x_{m}-y^{\lambda}|^{n}} dy + C_{n} \int_{\Sigma_{\lambda}} (v_{\lambda}^{k}(x_{m},t_{m}) - v_{\lambda}^{k}(y,t_{m})) (\frac{1}{|x_{m}-y|^{n}} - \frac{1}{|x_{m}-y^{\lambda}|^{n}}) dy + [h(x) - \mu] v_{\lambda}^{k}(x_{m},t_{m}).$$
(95)

Since
$$v_{\lambda}^{k}(x_{m}, t_{m}) \leq 0$$
, $v_{\lambda}^{k}(x_{m}, t_{m}) - v_{\lambda}(y, t_{m}) \leq 0$, and $\frac{1}{|x_{m}-y|^{n}} - \frac{1}{|x_{m}-y^{\lambda}|^{n}} > 0$, we have
 $(-\Delta)^{L} v_{\lambda}^{k}(x_{m}, t_{m}) \leq 0.$
(96)

Because

$$0 \ge v_{\lambda}^{k}(x_{m}, t_{m}) = w_{\lambda}(x_{m}, t_{m}) - \epsilon_{k}\eta_{k}(t_{m})\psi_{\delta}(x_{m}) \ge -\epsilon_{k} \to 0, as \quad k \to \infty,$$
(97)

if we combine (94) and (96), we have

$$w_{\lambda}(y, t_m) \to 0$$
, uniformly for $y \in \Sigma_{\lambda}$, as $k \to \infty$. (98)

What is more, we have

$$w_{\lambda}(0^{\lambda}, t_m) > 0.$$
⁽⁹⁹⁾

It contradicts (98). Thus, (83) is valid. Therefore, we have verified (71). Next, we move the plane T_{λ} to a limiting position where (71) still holds. We can set

$$\lambda_0^- = \sup\{\lambda | \inf_{t \in (-\infty, T]} w_\mu(x, t) > 0, \forall x \in \Sigma_\lambda, \mu \le \lambda\}$$
(100)

Using a similar derivation of (71), we have

$$\inf_{t \in (\infty,T]} w_{\lambda}(x,t) > 0, \quad (x,t) \in \Sigma_{\lambda}^{c} \times (-\infty,T]$$
(101)

where $\lambda > R$.

We set

$$\lambda_0^+ = \inf\{\lambda | \inf_{t \in (-\infty, T]} w_\mu(x, t) > 0, \forall x \in \Sigma_{\mu}^c, \mu \ge \lambda\}.$$
(102)

We will show there exists a sequence $\{\underline{t}_k\}$ such that

$$w_{\lambda_0^-}(x,\underline{t}_k) \to 0, \quad as \quad k \to \infty.$$
 (103)

uniformly for all $x \in \Sigma_{\lambda_0^-}$, and there exists a sequence $\{\overline{t_k}\}$ such that

$$w_{\lambda_0^+}(x,\overline{t_k}) \to 0, \quad as \quad k \to \infty.$$
 (104)

uniformly for all $x \in \Sigma_{\lambda_0^+}^c$.

In order to obtain (103), from the definition of λ^- , there exists a sequence $\{\lambda_k\} \searrow \lambda_0^-$ such that

$$\inf_{(x,t)\in\Sigma_{\lambda_k}\times(-\infty,T]}w_{\lambda_k}(x,t)\leq 0.$$
(105)

We consider two conditions:

1. There exists a subsequence of $\{\lambda_k\}$ (still denoted by $\{\lambda_k\}$) such that

$$\inf_{(x,t)\in\Sigma_{\lambda_k}\times(-\infty,T]}w_{\lambda_k}(x,t)<0.$$
(106)

2. There exists a subsequence of $\{\lambda_k\}$ such that

$$\inf_{(x,t)\in\Sigma_{\lambda_k}\times(-\infty,T]} w_{\lambda_k}(x,t) = 0.$$
(107)

In the first case, we assume that

$$\inf_{(x,t)\in\Sigma_{\lambda_k}\times(-\infty,T]} w_{\lambda_k}(x,t) =: -m_k < 0.$$
(108)

There exists sequence $\{t_k\} \in (-\infty, T]$ and $\{\epsilon_k\} \searrow 0$ ($\epsilon_k = o(m_k)$) such that

$$w_{\lambda_k}(x(t_k), t_k) = \inf_{x \in \Sigma_{\lambda_k}} w_{\lambda_k}(x, t_k) = -m_k + \epsilon_k < 0.$$
(109)

We assume x(t) to be the point where the given function can attain its minimum for every t, and we set

$$v_{\lambda_k}(x,t) = w_{\lambda_k}(x,t) - \epsilon_k \eta_k(t)$$
(110)

where

$$\eta_k(t) = \begin{cases} 1, & |t - t_k| < \frac{1}{2} \\ 0, & |t - t_k| \ge 1. \end{cases}$$
(111)

Furthermore,

$$v_{\lambda_k}(x(t_k), t_k) = -m_k + \epsilon_k - \epsilon_k = -m_k < 0$$
(112)

and

$$v_{\lambda_k}(x,t) = w_{\lambda}(x,t) \ge -m_k, \quad t \in (-\infty,T] \setminus [t_k - 1, \min\{t_k + 1, T\}].$$
(113)

It is easy to see that $v_{\lambda_k}(x, t)$ can attain a minimum in $\Sigma_{\lambda_k} \times [t_k - 1, \min\{t_k + 1, T\}]$, (denoted as $(\iota(\hat{t}_k), \hat{t}_k))$)

$$v_{\lambda_k}(\iota(\widehat{t}_k), \widehat{t}_k) = \inf_{\sum_{\lambda_k} \times (-\infty, T]} v_{\lambda_k}(x, t) \le -m_k.$$
(114)

Using a simple derivation, we have

$$\frac{v_{\lambda_k}(\iota(\hat{t}_k), \hat{t}_k)}{\partial t} \le 0 \tag{115}$$

and

$$-m_k \le w_{\lambda_k}(\iota(\widehat{t}_k), \widehat{t}_k) \le v_{\lambda}(\iota(\widehat{t}_k), \widehat{t}_k) + \epsilon_k \eta_k(\widehat{t}_k) \le -m_k + \epsilon_k < 0.$$
(116)

It follows that

$$\frac{\partial w_{\lambda_k}(\iota(\hat{t}_k), \hat{t}_k)}{\partial t} \le \epsilon_k \frac{\partial \eta_k(\hat{t}_k)}{\partial t} \le C\epsilon_k.$$
(117)

On the one hand, we have

$$(-\Delta)^{L} v_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k}) = (-\Delta)^{L} w_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k})$$

$$= -\frac{\partial w_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k})}{\partial t} + c_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k})w_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k})$$

$$\geq -C\epsilon_{k} + c_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k})w_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k})$$

$$\geq -C(\epsilon_{k} + m_{k}).$$
(118)

On the other hand, we have

$$(-\Delta)^{L} v_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k})$$

$$=C_{n} \int_{\Sigma_{\lambda_{k}}} (v_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k}) - v_{\lambda_{k}}(y,\widehat{t}_{k}))(\frac{1}{|\iota(\widehat{t}_{k}) - y|^{n}} - \frac{1}{|\iota(\widehat{t}_{k}) - y^{\lambda}|^{n}})dy + C_{n} \int_{\Sigma_{\lambda_{k}}} \frac{v_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k})}{|\iota(\widehat{t}_{k}) - y^{\lambda}|^{n}}dy + (h(\iota(\widehat{t}_{k})) + \mu)v_{\lambda_{k}}(\iota(\widehat{t}_{k}),\widehat{t}_{k}).$$
(119)

Combining

$$v_{\lambda_k}(\iota(\widehat{t}_k), \widehat{t}_k) - v_{\lambda_k}(y, \widehat{t}_k) \le 0, \quad y \in \Sigma_{\lambda_k},$$
(120)

and

$$v_{\lambda_k}(\iota(\widehat{t}_k), \widehat{t}_k) < 0, \tag{121}$$

we obtain

$$-C(\epsilon_k + m_k) \le (-\Delta)^L v_{\lambda_k}(\iota(\hat{t}_k), \hat{t}_k) \le 0.$$
(122)

So, the integral of $\int_{\Sigma_{\lambda}} \frac{1}{|x(\hat{t}_k) - y^{\lambda_k}|} dy$ is bounded, and it follows that $x(\hat{t}_k)$ is bounded away from T_{λ_k} .

What is more, we have

$$(-\Delta)^L v_{\lambda_k}(\iota(\widehat{t}_k), \widehat{t}_k) \to 0, \quad as \quad k \to \infty$$
 (123)

and

$$v_{\lambda_k}(\iota(\widehat{t}_k),\widehat{t}_k) - v_{\lambda_k}(y,\widehat{t}_k) \to 0.$$
(124)

So

$$w_{\lambda_k}(y, \hat{t}_k) \to 0, \quad uniformly \quad y \in \Sigma_{\lambda_k} \quad as \quad k \to \infty.$$
 (125)

We have therefore verified (103). In the second condition, we have

$$\inf_{(x,t)\in\Sigma_{\lambda_k}\times(-\infty,T]} w_{\lambda_k}(x,t) = 0.$$
(126)

Using a similar derivation of (71), we can obtain

$$\inf_{\Sigma_{\lambda_k} \times (-\infty,T]} w_{\lambda_k}(x,t) > 0, \quad x \in \Sigma_{\lambda_k}.$$
(127)

This contradicts the definition of λ_0^- . Thus, the case will not happen. Using a similar derivation of (103), we can obtain (104).

Finally, we will show

$$\lambda_0^- = \lambda_0^+. \tag{128}$$

if (128) is invalid. Suppose $\lambda \in (\lambda_0^-, \lambda_0^+)$, and we investigate the property of $w_\lambda(x, t)$ for x in Σ_λ^c . For $x \in \Sigma_\lambda^c$, x^λ can be the reflection point of x with respect to T_λ , and $(x^\lambda)^{\lambda_0^+}$ can be the reflection point of x^λ with respect to $T_{\lambda_0^+}$.

For $x = (x_1, x') \in \Sigma_{\lambda}^c$, we have

$$w_{\lambda}(x,\overline{t_{k}}) = u(x^{\lambda},\overline{t_{k}}) - u(x,\overline{t_{k}})$$

$$= u(x^{\lambda},\overline{t_{k}}) + u((x^{\lambda})^{\lambda_{0}^{+}},\overline{t_{k}}) - u((x^{\lambda})^{\lambda_{0}^{+}},\overline{t_{k}}) - u(x,\overline{t_{k}})$$

$$= w_{\lambda_{0}^{+}}((x^{\lambda})^{\lambda_{0}^{+}},\overline{t_{k}}) - w_{\lambda_{0}^{+}+x_{1}-\lambda}((x^{\lambda})^{\lambda_{0}^{+}},\overline{t_{k}})$$

$$\leq \epsilon_{k} - w_{\lambda_{0}^{+}+x_{1}-\lambda}((x^{\lambda})^{\lambda_{0}^{+}},\overline{t_{k}})$$

$$< 0.$$
(129)

where $\epsilon_k \to 0$ as $k \to \infty$. Using a similar derivation, for fixed $x \in \Sigma_{\lambda}^c$,

$$w_{\lambda}(x,t_k) > 0. \tag{130}$$

where *k* is sufficiently large. Hence, for arbitrary subset $G \subset \Sigma_{\lambda}^{c}$, there exists a constant $c_0 > 0$, for sufficiently large *k*,

$$w_{\lambda}(x,\overline{t_k}) < -c_0, \quad x \in \overline{G}$$
 (131)

and

$$w_{\lambda}(x,t_k) > c_0, \quad x \in \overline{G}.$$
 (132)

We assume $t_k < \overline{t_k}$. Based on the above conclusions, there exists $\sigma_k \in (t_k, \overline{t_k})$ such that

$$w_{\lambda}(x,t) > 0, x \in \overline{G}, t \in [t_k, \sigma_k)$$
(133)

and $w_{\lambda}(\cdot, \sigma_k)$ vanishes somewhere on \overline{G} .

- Next, we give two estimates of $w_{\lambda}(x, t)$.
- 1. A global lower bound estimate in a parabolic cylinder $\Sigma_{\lambda}^{c} \times [\underline{t}_{k}, \sigma_{k}]$ such that

$$w_{\lambda}(x,t) \ge e^{-\theta(t-\underline{t}_{\underline{k}})} \min\{0, \inf_{x \in \Sigma_{\lambda}^{c}} w_{\lambda}(x,\underline{t}_{\underline{k}})\}$$
(134)

along with

$$\inf_{x \in \Sigma_{\lambda}^{c}} w_{\lambda}(x, \underline{t_{k}}) \ge -\epsilon_{k} \to 0, \quad as \quad k \to \infty$$
(135)

where θ is a constant and λ is close to λ_0^+ .

2. A positive lower bound estimate on compact subset of *G*. There exists a subset $G_0 \subset \subset G$ and a constant M > 0 such that

$$w_{\lambda}(x,t) \ge M e^{-\theta(t-\underline{t}_{\underline{k}})} > 0, \quad (x,t) \in G_0 \times [\underline{t}_{\underline{k}}, \sigma_{\underline{k}}].$$
(136)

Now, we show estimate 1. Combining (130) and (8), we have (135). Because of (132), we just need to prove

$$w_{\lambda}(x,\underline{t_k}) \ge e^{-\theta(t-\underline{t_k})} \min\{0, \inf_{x \in \Sigma_{\lambda}^c} w_{\lambda}(x,\underline{t_k})\}, \quad (x,t) \in (\Sigma_{\lambda}^c \setminus G) \times [\underline{t_k}, \sigma_k].$$
(137)

We consider the following problem:

$$\begin{cases} \frac{\partial w_{\lambda}(x,t)}{\partial t} + (-\Delta)^{L} w_{\lambda}(x,t) = c_{\lambda}(x,t) w_{\lambda}(x,t), \quad (x,t) \in (\Sigma_{\lambda}^{c} \setminus G) \times [\underline{t}_{\underline{k}}, \sigma_{\underline{k}}].\\ w_{\lambda}(x,t) \ge 0, \quad (x,t) \in G \times [\underline{t}_{\underline{k}}, \sigma_{\underline{k}}]. \end{cases}$$
(138)

Using (130) and the continuity of $w_{\lambda}(x, t)$, we have verified the second equality of (138). We set R_1 be the radius such that

$$f(t,\xi(x,t)) := c_{\lambda}(x,t) < -\sigma, |x| > R_1, t \in (-\infty,T].$$
(139)

where $R_1 > R$.

We choose $G = \sum_{\mu+\delta}^{c} \cap B_{R_2}(0)$, and denote $G_1 := \{x | \lambda < x_1 < \mu + \delta, |x| \le R_2\}$ and $G_2 := \{x \in \sum_{\lambda}^{c} \setminus G | |x| > R_2\}$ where μ , δ are the undetermined constants and $R_2 > R_1$ because $c_{\lambda}(x, t)$ is bounded in G_1 and $c_{\lambda}(x, t) < -\sigma$ in G_2 . We arrive at (137) by Theorem 6, which proves estimate 1.

Next, we will prove estimate 2 by constructing a sub-solution of $w_{\lambda}(x, t)$. Denote

$$L_{\lambda}\xi(x,t) := \frac{\partial\xi(x,t)}{\partial t} + (-\Delta)^{L}\xi(x,t) - c_{\lambda}(x,t)\xi(x,t).$$
(140)

We have

$$L_{\lambda}w_{\lambda}(x,t) = 0. \tag{141}$$

In order to facilitate the derivation, we assume $\lambda = 0$ and $T_{\lambda} = T_0$. We set

$$p(x,t) = C_0 p_0(x,t) = C_0 e^{-\theta(t-t_k)} (v_\mu(x,t) - \tau g(x))$$
(142)

where $0 < \theta < \sigma$, $C_0 = \frac{c_0}{\|p_0(x,t_{\underline{k}})\|_{L^{\infty}(G)}}$, $\mu > \lambda_0^+$, τ is an undetermined constant, and g(x) and $v_{\mu}(x,t)$ are as follows:

$$g(x) = \begin{cases} -1, & x_1 < 0. \\ 1, & x_1 \ge 0. \end{cases}$$
(143)

and

$$v_{\mu}(x,t) = \begin{cases} w_{\mu}(x,t), & x_{1} > \mu, t > \underline{t}_{k} \\ 0, & -\mu \le x_{1} \le \mu, t > \underline{t}_{k} \\ w_{\mu}(x_{1} + 2\mu, x', t), & x_{1} < -\mu, t > \underline{t}_{k}. \end{cases}$$
(144)

Using the definition of $v_{\mu}(\mathbf{x},t)$, for $\mathbf{x} \in \Sigma_{\mu}^{c}$, we have

$$\begin{aligned} (-\Delta)^{L} v_{\mu}(x,t) &- (-\Delta)^{L} w_{\mu}(x,t) \\ &= C_{n} \int_{\Sigma_{\mu}} \frac{v_{\mu}(x,t) - v_{\mu}(y,t)}{|x-y|^{n}} dy - C_{n} \int_{\Sigma_{\mu}^{c}} \frac{v_{\mu}(y,t)}{|x-y|^{n}} dy - C_{n} \int_{\Sigma_{\mu}} \frac{w_{\mu}(x,t) - w_{\mu}(y,t)}{|x-y|^{n}} dy \\ &+ C_{n} \int_{\Sigma_{\mu}^{c}} \frac{w_{\mu}(y,t)}{|x-y|^{n}} dy + (h(x,t) + \mu) (v_{\mu}(x,t) - w_{\mu}(x,t)) \\ &= C_{n} \int_{R^{n}} \frac{w_{\mu}(y,t) - v_{\mu}(y,t)}{|x-y|^{n}} dy \\ &= C_{n} \int_{-\infty}^{\mu} \int_{R^{n-1}} \frac{w_{\mu}(y,t)}{|x-y|^{n}} dy + C_{n} \int_{-\infty}^{-\mu} \int_{R^{n-1}} \frac{v_{\mu}(y,t)}{(|x_{1}-y_{1}|^{2} + |x'-y'|^{2})^{\frac{n}{2}}} dy \end{aligned}$$
(145)
$$&= C_{n} \int_{R^{n-1}} (\int_{-\infty}^{\mu} \frac{w_{\mu}(y,t)}{|x-y|^{n}} dy_{1} - \int_{-\infty}^{-\mu} \frac{w_{\lambda}(y_{1}+2\mu,y',t)}{(|x_{1}-y_{1}|^{2} + |x'-y'|^{2})^{\frac{n}{2}}} dy_{1}) dy' \\ &= C_{n} \int_{-\infty}^{\mu} \int_{R^{n-1}} (\frac{w_{\mu}(y,t)}{|x-y|^{n}} dy_{1} - \frac{w_{\mu}(y,t)}{(|x_{1}-y_{1}+2\mu|^{2} + |x'-y'|^{2})^{\frac{n}{2}}}) dy_{1} dy' \\ &= C_{n} \int_{\Sigma_{\mu}} (\frac{1}{|x-y|^{n}} - \frac{1}{(|x'-y'|^{2} + |x_{1}-y_{1}+2\mu|^{2})^{\frac{n}{2}}}) w_{\mu}(y,t) dy < 0. \end{aligned}$$

where

$$\frac{1}{|x-y|^n} - \frac{1}{(|x'-y'|^2 + |x_1-y_1+2\mu|^2)^{\frac{n}{2}}} dy > 0$$
(146)

15 of 18

and

$$w_{\mu}(x,t) < 0, \quad (x,t) \in \Sigma_{\mu} \times (-\infty,T].$$
(147)

We choose $\mu < d - \delta_0$ where δ_0 is sufficiently small, μ is close to λ , and d > 0 is a constant with $d > \lambda_0^+$. We denote $G_0 = (\Sigma_{\lambda+d}^c \cap B_{R_1}(0)) \subset G$, and there exists a constant C_0 such that

$$w_{\mu}(x,t) > C_0, \quad (x,t) \in G_0 \times [t_k,\sigma_k].$$
 (148)

Let τ be a sufficiently small constant such that

$$L_{\lambda}w_{\mu}(x,t) - L_{\lambda}p(x,t) \ge 0, \quad (x,t) \in G \times [t_k,\sigma_k]$$
(149)

holds due to a similar derivation to Lemma 4.3 in [26].

For $t = t_k$, using (132), we have

$$p(x,t) = \frac{c_0 p_0(x, \underline{t}_{\underline{k}})}{\|p_0(x, \underline{t}_{\underline{k}})\|_{L_{\infty}(G)}} \le c_0, \quad x \in \overline{G}.$$
(150)

It has been verified that

$$w_{\mu}(x,\underline{t_k}) - v_{\mu}(x,\underline{t_k}) \ge 0.$$
(151)

Next, we consider $(x, t) \in \Sigma_{\lambda}^{c} \setminus G = G_1 \cup G_2$. For $x \in G_1$, we have

$$\begin{cases} v_{\mu}(x,t) = 0, & -\mu < x_{1} < \mu \\ v_{\mu}(x,t) = w_{\mu}(x,t), \mu < x_{1} < \mu + \delta \end{cases}$$
(152)

where δ is a small constant. It follows that

$$v_{\mu}(x,t) \le w_{\mu}(x,t) \tag{153}$$

Furthermore, if $x \in G_2$, there exists a sufficiently large R_2 , such that

$$v_{\mu}(x,t) \le \frac{\tau}{2}g(x). \tag{154}$$

Thus, we obtain

$$p(x,t) \le -e^{\theta(t-\underline{t}_k)} C \frac{\tau}{2}, \quad x \in \Sigma_{\lambda}^c \setminus G.$$
(155)

What is more, we have

 $w_{\lambda}(x,t) \geq -e^{\theta(t-\underline{t}_k)}\epsilon_k.$ (156)

As $k \to \infty$,

$$w_{\lambda}(x,t) - p(x,t) \ge 0, \quad (x,t) \in (\Sigma_{\lambda}^{c} \setminus G) \times [\underline{t_{k}}, \sigma_{k}].$$
(157)

Thus, we have

$$w_{\lambda}(x,t) \ge p(x,t), \quad (x,t) \in G \times [\underline{t}_k, \sigma_k]$$
(158)

due to Theorem 3. B

$$p(x,t) \ge Ce^{-\theta(t-\underline{t_k})}, \quad (x,t) \in G_0 \times [\underline{t_k}, \sigma_k].$$
(159)

using (148). So,

$$w_{\lambda}(x,t) \ge Ce^{-\theta(t-\underline{t}_{k})}, \quad (x,t) \in G_{0} \times [\underline{t}_{k},\sigma_{k}].$$
(160)

we have thus verified estimate 2.

Next, we will show (133). Because $w_{\lambda}(\cdot, \sigma_k)$ vanishes somewhere on \overline{G} , using the maximum principle, we assume $\overline{x} \in \partial G$ such that

$$w_{\lambda}(\overline{x},\sigma_k) = 0. \tag{161}$$

where δ is a sufficiently small constant to satisfy

$$B_{\delta}(\overline{x}) \cap G_0 = \emptyset \tag{162}$$

and

$$w_{\lambda}(x,\underline{t_k}) > \frac{c_0}{2}, \quad x \in B_{\delta}(\overline{x}).$$
 (163)

We set

$$S_{\lambda}(x,t) = \chi_{G_0 \cup G_0^{\lambda}} w_{\lambda}(x,t) + (x_1 \psi(x) - b(x)) \epsilon_k e^{-\theta(t - \underline{t}_k)}$$
(164)

where

$$b(x) = \begin{cases} 1, & x_1 \ge \lambda. \\ -1, & x_1 < \lambda. \end{cases}$$
(165)

 G_0^{λ} is the reflection region of G_0 (for simplicity of derivation, we assume $\lambda = 0$)

$$\chi_{G_0^\lambda \cup G_0} = \begin{cases} 1, & x \in G_0^\lambda \cup G_0\\ 0, & x \notin G_0^\lambda \cup G_0. \end{cases}$$
(166)

and

$$\psi(x) = \begin{cases} 1, & x \in B_{\delta}(\overline{x}), \\ 0, & x \notin B_{\delta}(\overline{x}). \end{cases}$$
(167)

with $0 < |\psi(x)| \le 1$. We can quickly obtain $|(-\Delta)^L(x_1\psi(x))| \le C$. Obviously, $S_\lambda(x, t)$ is a symmetric function. We will show that

$$\begin{cases} L_{\lambda}w_{\lambda} \geq L_{\lambda}S_{\lambda}(x,t), & (x,t) \in B_{\delta}(\overline{x}) \times [\underline{t}_{\underline{k}},\sigma_{\underline{k}}] \\ w_{\lambda}(x,t) \geq S_{\lambda}(x,t), & (x,t) \in (\Sigma_{\lambda}^{c} \setminus B_{\delta}(\overline{x})) \times [\underline{t}_{\underline{k}},\sigma_{\underline{k}}] \\ w_{\lambda}(x,\underline{t}_{\underline{k}}) \geq S_{\lambda}(x,\underline{t}_{\underline{k}}) \end{cases}$$
(168)

When $t = t_k$, we have

$$S_{\lambda}(x,\underline{t_k}) = (x_1\phi(x) - b(x))\epsilon_k \le \epsilon_k, x \in B_{\delta}(\overline{x}).$$
(169)

Thus, we have verified the third equality of (168). Next, we consider $x \notin B_{\delta}(\overline{x})$. For $x \in G_0$, we have

$$S_{\lambda}(x,t) = w_{\lambda}(x,t) - \epsilon_k e^{-\theta(t-\underline{t}_k)} \le w_{\lambda}(x,t).$$
(170)

For $x \in \Sigma_{\lambda}^{c} \setminus G_{0}$ and $x \notin B_{\delta}(\overline{x})$, we have

$$S_{\lambda}(x,t) = -\epsilon_k e^{-\theta(t-\underline{t}_k)} \le w_{\lambda}(x,t), \quad t \in [\underline{t}_k, \sigma_k].$$
(171)

Thus, we have verified the second equality of (168). Furthermore, for $x \in B_{\delta}(\overline{x})$, we have

$$(-\Delta)^{L}\chi_{G_{0}^{\lambda}\cup G_{0}}(x)w_{\lambda}(x,t) = C_{n}\int_{\Sigma_{\lambda}} \frac{-\chi_{G_{0}^{\lambda}\cup G_{0}}(y)w_{\lambda}(y,t)}{|x-y|^{n}}dy - C_{n}\int_{\Sigma_{\lambda}^{c}} \frac{\chi_{G_{0}^{\lambda}\cup G_{0}}(y)w_{\lambda}(y,t)}{|x-y|^{n}}dy + (h(x)+\mu)\chi_{G_{0}\cup G_{0}^{\lambda}}(x)w_{\lambda}(x,t) \leq -Ce^{-\theta(t-\underline{t}_{k})}\int_{G_{0}} (\frac{1}{|x-y|^{n}} - \frac{1}{|x-y^{\lambda}|^{n}})dy \leq -Ce^{-\theta(t-\underline{t}_{k})}.$$
(172)

Thus, for $(x, t) \in B_{\delta}(\overline{x}) \times [t_k, \sigma_k]$, we have

$$L_{\lambda}S_{\lambda}(x,t) \leq (-\Delta)^{L}\chi_{G_{0}\cup G_{0}^{\lambda}}(x)w_{\lambda}(x,t) - \theta(x_{1}\psi(x)-1)\epsilon_{k}e^{-\theta(t-\underline{t}_{k})} + \epsilon_{k}e^{-\theta(t-\underline{t}_{k})}(-\Delta)^{L}(x_{1}\psi(x)-1) + c_{\lambda}(x,t)(x_{1}\psi(x)-1)\epsilon_{k}e^{-\theta(t-\underline{t}_{k})}$$

$$\leq (-\Delta)^{L}(\chi_{G_{0}\cup G_{0}^{\lambda}})(x)w_{\lambda}(x,t) + C\epsilon_{k}e^{-\theta(t-\underline{t}_{k})}.$$
(173)

Combining (172) and (173), we have

$$L_{\lambda}w_{\lambda}(x,t) - L_{\lambda}S_{\lambda}(x,t) \ge 0, \quad (x,t) \in B_{\delta}(\overline{x}) \times [\underline{t}_{k},\sigma_{k}].$$
(174)

We obtain

$$w_{\lambda}(x,t) \ge S_{\lambda}(x,t) > 0, \quad (x,t) \in B_{\delta}(\overline{x}) \times [\underline{x},\sigma_k].$$
(175)

using Theorem 3. This contradicts $w_{\lambda}(\bar{x}, \sigma_k) = 0$. So, we have verified

$$\lambda_0^- = \lambda_0^+. \tag{176}$$

Therefore, we have completed Theorem 1. \Box

4. Application of Theorem 1

Proof. In this section, we will complete the proof of Theorem 2. Using a simple derivation, we have

$$\frac{\partial w_{\lambda}(x,t)}{\partial t} + (-\Delta)^{L} w_{\lambda}(x,t) = c(x,t) w_{\lambda}(x,t)$$
(177)

where $c(x, t) = \xi^{p-1} - \omega$ and ξ is between $u_{\lambda}(x, t)$ and u(x, t). We define $u^{p}(x, t) - \omega u(x, t)$ to be r(u, t). We can quickly check that

$$r(0,t) = 0, \quad x \in \Sigma_{\lambda} \tag{178}$$

What is more, there exists a constant ν such that

$$r'(0,t) < -\nu < -\sigma.$$
 (179)

Thus, r(u, t) satisfies (*a*) and (*b*). Through the application of Theorem 1, we can obtain that the solution of (18) is radial symmetry of some point in \mathbb{R}^n . \Box

5. Conclusions

We prove the symmetry of an ancient solution of a fractional parabolic equation involving logarithmic Laplacian using moving plane methods. At same time, we give some maximum principles involving logarithmic Laplacian. We believe that these theorems are useful for some other equations. In future, we will investigate the blow-up theory of the logarithmic Laplacian by means of the symmetry of an ancient solution, the maximum principle, and the perturbation method.

Author Contributions: Methodology, W.Z.; validation, Y.H. and W.Z.; investigation, Z.Y.; writing original draft preparation, W.Z. All authors have read and agreed to the published version of the manuscript.

Funding: This research was funded by the Hainan Provincial NSF of China with No. 120MS001.

Data Availability Statement: Data are contained within the article.

Acknowledgments: This work is surppoted by Laboratory of Engineering Modeling and Statistical Computation of Hainan Province. The authors would like to express sincere thanks to the referees for their valuable suggestions and comments.

Conflicts of Interest: The authors declare no conflict of interest.

References

- Hernández-Santamaría, V.; Zuazua, E. Controllability of shadow reaction-diffusion systems. J. Differ. Equ. 2020, 268, 3781–3818.
 [CrossRef]
- 2. Ni, W. *The Mathematics of Diffusion;* Society for Industrial and Applied Mathematics: Philadelphia, PA, USA, 2011.
- Zhu, M. Activator-Inhibitor Model for Seashell Pattern Formation. 2018. Available online: https://www.google.com.hk/url?sa= t&rct=j&q=&esrc=s&source=web&cd=&ved=2ahUKEwi-vcj5zveCAxUAoWMGHWLeAwIQFnoECBQQAQ&url=https%3A% 2F%2Fguava.physics.uiuc.edu%2F~nigel%2Fcourses%2F569%2FEssays_Spring2018%2FFiles%2Fzhu1.pdf&usg=AOvVaw1nj6 c0WyoVZ3tBtYcVJYdA&opi=89978449 (accessed on 25 October 2023).
- 4. Wang, X. Nerve propagation and wall in liquid crystals. Phys. Lett. A 1985, 112, 402–406. [CrossRef]
- 5. Wu, G.; Yuan, J. Well-posedness of the Cauchy problem for the fractional power dissipative equation in critical Besov spaces. *J. Math. Anal. Appl.* **2008**, 340, 1326–1335. [CrossRef]
- 6. Miao, C.X.; Yuan, B.Q.; Zhang, B. Well-posedness of the Cauchy problem for the fractional power dissipative equations. *Nonlinear Anal.* **2008**, *68*, 461–484. [CrossRef]
- 7. Chen, W.; Wu, L. Liouville theorems for fractional parabolic equations. Adv. Nonlinear Stud. 2021, 21, 939–958. [CrossRef]
- Hamilton, R. The formation of singularities in the Ricci flow. In *Surveys in Differential Geometry*; International Press: Cambridge, MA, USA, 1993; Volume II, pp. 7–136.
- 9. Perelman, G. The entropy formula for the Ricci flow and its geometric applications. *arXiv* 2002, arXiv:math/0211159.
- 10. Barker, T.; Seregin, G. Ancient solutions to Navier-Stokes equations in half space. J. Math. Fluid Mech. 2015, 17, 551–575. [CrossRef]
- 11. Lin, F.; Zhang, Q. On ancient solutions of the heat equation. Commun. Pure Appl. Math. 2019, 72, 2006–2028. [CrossRef]
- 12. Wu, L.; Chen, W. Ancient solutions to nonlocal parabolic equations. Adv. Math. 2022, 408, 108607. [CrossRef]
- 13. Chen, H.; Weth, T. The Dirichlet problem for the logarithmic Laplacian. Commun. Partial Differ. Equ. 2019, 44, 1100–1139 [CrossRef]
- 14. Zhang, L.; Nie, X. A direct method of moving planes for the Logarithmic Laplacian. Appl. Math. Lett. 2021, 118, 107141. [CrossRef]
- 15. Guo, X.Y.; Xu, M.Y. Some physical applications of fractional Schrödinger equation. J. Math. Phys. 2006, 47, 082104. [CrossRef]
- 16. Islam, W.; Younis, M.; Rizvi, S.T.R. Optical solitons with time fractional nonlinear Schrödinger equation and competing weakly nonlocal nonlinearity. *Optik* 2017, 130, 562–567 [CrossRef]
- 17. Liu, B. Direct method of moving planes for logarithmic Laplacian system in bounded domains. *Discret. Contin. Dyn. Syst.-Ser. A* **2018**, *38*, 5339–5349. [CrossRef]
- Dai, W.; Qin, G. Classification of nonnegative classical solutions to third-order equations. *Adv. Math.* 2018, 328, 822–857. [CrossRef]
- Caffarelli, L.; Silvestre, L. An extension problem related to the fractional Laplacian. Commun. Partial Differ. Equ. 2007, 32, 1245–1260. [CrossRef]
- Lü, Y.; Lü, Z. Some properties of solutions to the weighted Hardy-Littlewood-Sobolev type integral system. Discret. Contin. Dyn. Syst. 2016, 36, 3791–3810. [CrossRef]
- 21. Liu, Z. Maximum principles and monotonicity of solutions for fractional p-equations in unbounded domains. J. Differ. Equ. 2021, 270, 1043–1078. [CrossRef]
- 22. Luo, L.; Zhang, Z. Symmetry and nonexistence of positive solutions for fully nonlinear nonlocal systems. *Appl. Math. Lett.* **2021**, 124, 107674. [CrossRef]
- Lu, G.; Zhu, J. The maximum principles and symmetry results for viscosity solutions of fully nonlinear equations. J. Differ. Equ. 2015, 258, 2054–2079. [CrossRef]
- 24. Chen, W.; Wu, L. A maximum principle on unbounded domains and a Liouville theorem for fractional p-harmonic functions. *arXiv* **2019**, arXiv:1905.09986.
- 25. Wu, L.; Chen, W. The sliding methods for the fractional p-Laplacian. Adv. Math. 2020, 361, 106933. [CrossRef]
- Chen, W.; Wang, P.; Niu, Y.; Hu, Y. Asymptotic method of moving planes for fractional parabolic equations. *Adv. Math.* 2021, 377, 107463. [CrossRef]
- Luo, L.; Zhang, Z. Symmetry of solutions for asymptotically symmetric nonlocal parabolic equations. *Fract. Calc. Appl. Anal.* 2023, 26, 864–892. [CrossRef]

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.